HENEREREHES
SHIS5FE4H1 38 (K

Mt

€:E3::) (BT : kg )
SRR ==Y H 2 5 1B Z B fm &
HE 238 N1 1,004.3 38 35
N> 2,471.5 60 36
<t/ 3,119.6 139 35
E=X 4,304.6 1,229 579
HSXH LA 146.2 310 40
AAIH LA 36.3 889 624
JUH LA 814.8 670 20
LEHLA 400.1 401 35
FHELS LA 1,560.0 1,000 131
=FHLA 121.6 400 50
<AOLA 28.3 589 281
HNSAHLA 761.2 156 26
L0 49 .4 89 40
JA5S 289.0 188 30
2O0F 558.3 401 26
VAXTY 3,245.1 1,830 577
<7rd 114.5 1,509 600
TIAITAF A 43.6 269 100
F+77>39 2,241.7 277 50
HFHS 597.1 59 42
XXVl 115.2 1,019 506
74 F A 25.3 1,311 146

e

18,571.9




6:550) (81 @ kg )
pHE i miEH o2 = B Z B " =
S 23% Z2F 549.5 600 259
<79 306.6 193 20
ALY 59.2 5,600 589
SF A 26.6 189 26
IR 90.6 1,050 139
SH= 32.0 5,000 300
ZILAA S 297.9 593 269
ZILAA FI%E 140.0 4,533 3,051 [y
TUAh 516.2 1,159 559
U 978 675.0 6,300 3,619 (g e
S RUAH 151.8 739 611
=241 26.4 859 400
TFEH ] 3,674.8 763 50
AFF<3 437.3 2,000 1,200
CHE 25,555.8




[f¥fa] (BT ¢ kg )
MEE ] AfEL 0 2 = 1B Z B i =

EEXHE 18% |[F4 27.7 396 181
HFHES 27.8 70 42
OxX) UL 104.0 1,288 400
2+ 226.2 644 323
5% |12 HDSSA 926.3 1,900 1,500
0 8k OVl 219.8 1,310 500
DONEIE 338 E IO (82) 1,169.5 3,800 2,100

D
[ =]

T2

2,673.6




[;Efa] (BT ¢ kg )

pHE i miEH o2 = B Z B " =
HE 23% ESX 934.8 1,500 600
<7+ 878.1 2,500 1,500
EEXFE 18% | R+ 635.8 600 500
8o o ESX 44.7 2,500 1,500
aitaE 2,493.4




